

AIMS Mathematics, 6(11): 12713–12717. DOI: 10.3934/math.2021733 Received: 05 March 2021 Accepted: 30 August 2021 Published: 06 September 2021

http://www.aimspress.com/journal/Math

## Research article

# Some new identities involving Laguerre polynomials

# Xiaowei Pan<sup>1,\*</sup> and Xiaoyan Guo<sup>2</sup>

- <sup>1</sup> School of Health Management, Xi'an Medical University, Xi'an 710021, China
- <sup>2</sup> School of Mathematics, Northwest University, Xi'an 710127, China
- \* Correspondence: Email: panxiaowei@xiyi.edu.cn.

Abstract: In this paper, we use elementary method and some sort of a counting argument to show the equality of two expressions. That is, let f(n) and g(n) be two functions, k be any positive integer. Then  $f(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot {\binom{n+k-1}{r+k-1}} \cdot g(r)$  if and only if  $g(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot {\binom{n+k-1}{r+k-1}} \cdot f(r)$  for all integers  $n \ge 0$ . As an application of this formula, we obtain some new identities involving the famous Laguerre polynomials.

**Keywords:** inversion formula; Laguerre polynomials; exponential generating function; identity **Mathematics Subject Classification:** 11B37, 11B83

### 1. Introduction

For any integer  $n \ge 0$ , the famous Laguerre polynomial  $L_n(x)$  is defined by

$$L_n(x) = e^x \frac{d^n}{dx^n} \left( x^n e^{-x} \right) = \sum_{r=0}^n (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n}{r} \cdot x^r,$$
(1.1)

where  $\binom{n}{m} = \frac{m!}{m!(n-m)!}$ .

The exponential generating function of  $L_n(x)$  is

$$\frac{1}{1-t} \cdot e^{-\frac{xt}{1-t}} = \sum_{n=0}^{\infty} \frac{L_n(x)}{n!} \cdot t^n.$$
 (1.2)

It is clear that  $L_0(x) = 1$ ,  $L_1(x) = -x + 1$ , and  $L_{n+1}(x) = (2n + 1 - x)L_n(x) - n^2L_{n-1}(x)$  for all positive integer  $n \ge 1$ . Therefore  $L_n(x)$  satisfy a 3-term recurrence relation. It satisfies the integral identity

$$\int_{0}^{+\infty} e^{-x} \cdot L_{m}(x) \cdot L_{n}(x) dx = \begin{cases} 0, & \text{if } m \neq n; \\ (n!)^{2}, & \text{if } m = n. \end{cases}$$
(1.3)

In recent years, many papers investigated the elementary properties of Laguerre polynomials and recurrence polynomials (see [3–8]).

In this paper, as a note, we prove a new inversion formula related to Laguerre polynomials. That is, we shall prove the following conclusion.

**Theorem.** Let f(n) and g(n) be two functions, k be any positive integer. For all integer  $n \ge 0$ , if

$$f(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n+k-1}{r+k-1} \cdot g(r),$$
(1.4)

then we have the inversion formula

$$g(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n+k-1}{r+k-1} \cdot f(r).$$
(1.5)

It is clear that if we take k = 1,  $f(n) = L_n(x)$  and  $g(r) = x^r$ , then from (1.1) we have the identity

$$x^{n} = \sum_{r=0}^{n} (-1)^{r} \cdot \frac{n!}{r!} \cdot {\binom{n}{r}} \cdot L_{r}(x).$$

#### 2. Proof of the theorem

In this section, we shall complete the proof of our main result. Hereinafter, we shall use some elementary number theory contents and properties of power series, which can be found in references [1,2], and also be found in [3,4], so we will not repeat them here. First we need the following simple lemma.

**Lemma.** For any integer  $n \ge 0$ , let f(n) and g(n) be two number theoretic functions. If f(n) and g(n) satisfy the identity

$$f(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n}{r} \cdot g(r),$$

then we have the inversion formula

$$g(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n}{r} \cdot f(r).$$

**Proof.** It is clear that the lemma holds if n = 0. So without loss of generality, we can assume that  $n \ge 1$ . At this time, from the definition of f(n), we have

$$\sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot {\binom{n}{r}} \cdot f(r)$$

$$= \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot {\binom{n}{r}} \left(\sum_{s=0}^{r} (-1)^s \cdot \frac{r!}{s!} \cdot {\binom{r}{s}} \cdot g(s)\right)$$

$$= n! \cdot \sum_{s=0}^{n} (-1)^s \cdot \frac{g(s)}{s!} \cdot \sum_{r=s}^{n} (-1)^r \cdot {\binom{r}{s}} \cdot {\binom{n}{r}}$$

**AIMS Mathematics** 

Volume 6, Issue 11, 12713–12717.

$$= n! \cdot \sum_{s=0}^{n} (-1)^{s} \cdot \frac{g(s)}{s!} \cdot \sum_{r=0}^{n-s} (-1)^{r+s} \cdot \binom{r+s}{s} \cdot \binom{n}{r+s}$$

$$= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \sum_{r=0}^{n-s} (-1)^{r} \cdot \frac{n!}{(n-s)! \cdot s!} \cdot \frac{(n-s)!}{r! \cdot (n-r-s)!}$$

$$= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \frac{n!}{(n-s)! \cdot s!} \cdot \sum_{r=0}^{n-s} (-1)^{r} \cdot \binom{n-s}{r}$$

$$= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \frac{n!}{(n-s)! \cdot s!} \cdot (1-1)^{n-s}$$

$$= n! \cdot \frac{g(n)}{n!} \cdot \frac{n!}{0! \cdot n!} + n! \cdot \sum_{s=0}^{n-1} \frac{g(s)}{s!} \cdot \frac{n!}{(n-s)! \cdot s!} \cdot (1-1)^{n-s}$$

$$= g(n).$$

That is,

$$g(n) = \sum_{r=0}^{n} (-1)^r \cdot \frac{n!}{r!} \cdot \binom{n}{r} \cdot f(r).$$

The lemma is proved.

Now for any positive integer  $k \ge 1$ , let f(n) and g(n) be defined as (1.4) and (1.5). If k = 1, then the theorem follows from the lemma. So without loss of generality we can assume  $k \ge 2$ . This time we have

$$\begin{split} &\sum_{r=0}^{n} (-1)^{r} \cdot \frac{n!}{r!} \cdot \binom{n+k-1}{r+k-1} \cdot f(r) \\ &= \sum_{r=0}^{n} (-1)^{r} \cdot \frac{n!}{r!} \cdot \binom{n+k-1}{r+k-1} \left( \sum_{s=0}^{r} (-1)^{s} \cdot \frac{r!}{s!} \cdot \binom{r+k-1}{s+k-1} \cdot g(s) \right) \\ &= n! \cdot \sum_{s=0}^{n} (-1)^{s} \cdot \frac{g(s)}{s!} \cdot \sum_{r=s}^{n} (-1)^{r} \cdot \binom{r+k-1}{s+k-1} \cdot \binom{n+k-1}{r+k-1} \\ &= n! \cdot \sum_{s=0}^{n} (-1)^{s} \cdot \frac{g(s)}{s!} \cdot \sum_{r=0}^{n-s} (-1)^{r+s} \cdot \binom{r+s+k-1}{s+k-1} \cdot \binom{n+k-1}{r+s+k-1} \\ &= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \sum_{r=0}^{n-s} (-1)^{r} \cdot \frac{(n+k-1)!}{(n-s)! \cdot (s+k-1)!} \cdot \frac{(n-s)!}{r! \cdot (n-r-s)!} \\ &= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \binom{n+k-1}{s+k-1} \cdot \sum_{r=0}^{n-s} (-1)^{r} \cdot \binom{n-s}{r} \\ &= n! \cdot \sum_{s=0}^{n} \frac{g(s)}{s!} \cdot \binom{n+k-1}{s+k-1} \cdot (1-1)^{n-s} = g(n). \end{split}$$

The theorem is proved.

This theorem can also be proved by manipulating the exponential generating function in (1.2). Here we give an alternative proof for the theorem by using the well known method of the exponential generating functions. Consider

AIMS Mathematics

$$F(x) = \sum_{n=0}^{\infty} f(n) \frac{x^n}{n!}$$
 and  $G(x) = \sum_{n=0}^{\infty} g(n) \frac{x^n}{n!}$ ,

where f(n) and g(n) defined as in the theorem.

Then multiplying on both sides of (1.4) by  $\frac{x^n}{n!}$  and summing over  $n \ge 0$ , we obtain

$$F(x) = (1 - x)^{-k} G(-x(1 - x)^{-1}).$$
(2.1)

Now let  $y = -x(1 - x)^{-1}$ , so  $x = -y(1 - y)^{-1}$  and  $1 - x = (1 - y)^{-1}$ , and expressing (2.1) in terms of y gives

$$F(-y(1-y)^{-1}) = (1-y)^k G(y),$$

or rearranging slightly,

$$G(y) = (1 - y)^{-k} F\left(-y(1 - y)^{-1}\right).$$
(2.2)

Equating coefficients of  $\frac{y^n}{n!}$  in (2.2) we obtain (1.5). This completes the second proof of the theorem.

#### 3. Conclusions

The main result of this paper is a theorem, which proved a new reciprocal formula for some arithmetical functions, it revealed some essential properties of the Laguerre polynomials. The result is actually new contribution to the study of the properties of Laguerre polynomials. Of course, the methods adopted in this paper have some good reference for the further study of the Laguerre polynomials.

#### Acknowledgments

This work is supported by X. M. U. F.(2017GJFY21), (2018XNRC05) and P. N. S. F.(2019JM573) of China.

#### **Conflict of interest**

The authors declare that there are no conflicts of interest regarding the publication of this paper.

#### References

- 1. T. M. Apostol, Introduction to analytic number theory, New York: Springer-Verlag, 1976.
- 2. T. M. Apostol, *Mathematical analysis*, 2 Eds., Mass.-London-Don Mills: Addison-Wesley Publishing Co., 1974.
- 3. M. Abramowitz, I. A. Stegun, Handbook of mathematical functions, New York, 1965.
- 4. D. Jackson, Fourier series and orthogonal polynomials, Dover Publications, 2004.

AIMS Mathematics

- 5. R. Ma, W. P. Zhang, Several identities involving the Fibonacci numbers and Lucas numbers, *Fibonacci Quart.*, **45** (2007), 164–170.
- 6. Y. Yi, W. P. Zhang, Some identities involving the Fibonacci polynomials, *Fibonacci Quart.*, **40** (2002), 314–318.
- 7. T. T. Wang, W. P. Zhang, Some identities involving Fibonacci, Lucas polynomials and their applications, *Bull. Math. Soc. Sci. Math. Roumanie*, **103** (2012), 95–103.
- 8. X. H. Wang, D. Han, Some identities related to Dedekind sums and the Chebyshev polynomials, *Int. J. Appl. Math. Stat.*, **51** (2013), 334–339.



© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)